Forest County Forestry - Fall 2014 Timber Sale Summary

			Advertised			\$ per acre	
Tract	Acres	Sale Name	value	Apprasised	Sold		\$/ac/yr
8-14	83	Baby Whale	\$27,179.00		\$39,830.00	\$479.88	
9-14	121	Joe's Hollar	\$84,381.00		\$134,754.00	\$1,113.67	
10-14	88	Poacher	\$47,043.00		\$61,925.00	\$703.69	
11-14	32	East Hill	\$19,415.00		\$27,615.00	\$862.97	
Total	324		\$178,018.00	\$0.00	\$264,124.00		

				Pulp	wood Summai	ry (Cords)					
Tract	Acres	Sale Name	Mx	BA	BA Bolts	Α	F	SW	PR	Total	Cords/Acre
8-14	83	Baby Whale	360	170		35				565	6.81
9-14	121	Joe's Hollar	560	208		857	8			1633	13.50
10-14	88	Poacher	500	215		10				725	8.24
11-14	32	East Hill	220	30		235	10			495	15.47
Total	324		1640	623	0	1137	18	0	0	3418	10.55

				Sawlog S	ummary (MBF	-)		
Tract	Acres	Sale Name	MH	BA	MX		Total	MBF/Acre
8-14	83	Baby Whale	16.0	25.0			41.0	0.49
9-14	121	Joe's Hollar	36.0	60.0	28.0		124.0	1.02
10-14	88	Poacher	35.0	25.0	5.0		65.0	0.74
11-14	32	East Hill	2.0	1.0	2.0		5.0	0.16
Total	324		89	111	35	0	235	0.73

			Ave	rage Bid Pric	e Pulpwood				
Tract	Acres	Sale Name	Mx	BA	BA Bolts	Α	F	SW	PR
8-14	83	Baby Whale	\$48.98	\$10.81		\$45.89			
9-14	121	Joe's Hollar	\$47.46	\$10.29		\$48.76	\$23.05		
10-14	88	Poacher	\$47.70	\$9.48		\$41.69			
11-14	32	East Hill	\$44.39	\$10.28		\$45.97	\$22.68		
	Wt. Av	rerage (All Bids)	\$47.45	\$10.15	\$0.00	\$48.04	\$22.85		

		Ave	rage Bid Price	e Sawlogs		
Tract	Acres	Sale Name	MH	BA	MX	
8-14	83	Baby Whale	\$501.00	\$239.00		
9-14	121	Joe's Hollar	\$511.57	\$226.29	\$238.29	
10-14	88	Poacher	\$515.83	\$215.83	\$220.33	
11-14	32	East Hill	\$480.86	\$220.43	\$238.29	
	Wt. Av	rerage (All Bids)	\$510.66	\$226.74	\$235.72	

FOREST COUNTY TIMBER SALE BID RECORD BABY WHALE TIMBER SALE TRACT 8-14 COUNTY BOARD ROOM, COURTHOUSE

December 15th, 2014 4:00 p.m.

			BIDDI	ER # 1	BIDDI	ER # 2	BIDDE	ER # 3	BIDDI	ER # 4	BIDDI	ER # 5
			Whitetail L	ogging, LLC	Timbertick	s Logging,	Tigerton	Lumber	Brad Mihall	ko Trucking,	Ken Mihal	ko & Sons
			vviilletaii L	00 0	Ll	LC	Com	pany	In	C.	Log	ging
	TOTAL	MINIMUM	PER	SPECIES	PER	SPECIES	PER	SPECIES	PER	SPECIES	PER	SPECIES
SPECIES	VOLUME	BID	UNIT	TOTAL	UNIT	TOTAL	UNIT	TOTAL	UNIT	TOTAL	UNIT	TOTAL
Mx Hardwood Pulp & Bolts	360		\$51.00	\$18,360.00	\$48.00	\$17,280.00	\$58.00	\$20,880.00	\$45.50	\$16,380.00	\$47.85	\$17,226.00
Basswood Pulp and Bolts	170		\$12.00								\$11.85	
Aspen Pulp and Bolts	35		\$51.00	\$1,785.00	\$45.50	\$1,592.50	\$45.00	\$1,575.00	\$45.50	\$1,592.50	\$47.85	\$1,674.75
Sugar Maple Sawlogs	16.0		\$555.00	\$8,880.00	\$505.00	\$8,080.00	\$550.00	\$8,800.00	\$485.00	\$7,760.00	\$461.00	\$7,376.00
Basswood Sawlogs	25.0		\$305.00	\$7,625.00	\$215.00	\$5,375.00	\$275.00	\$6,875.00	\$210.00	\$5,250.00	\$209.00	\$5,225.00
TOTAL BID VALUE		\$27,179.00		\$38,690.00		\$34,367.50		\$39,830.00		\$32,767.50		\$33,516.25
MINIMUM DEPOSIT (10%)				\$3,869.00		\$3,436.75		\$3,983.00		\$3,276.75		\$3,351.63

			BIDD	ER # 6	BIDD	ER # 7	BIDD	ER # 8	BIDD	ER # 9	BIDDI	ER # 10
				ee Logging, _C								
CDECIEC	TOTAL	MINIMUM	PER	SPECIES	PER	SPECIES		SPECIES	PER	SPECIES	PER	SPECIES
SPECIES	VOLUME	BID	UNIT	TOTAL	UNIT	TOTAL	UNIT	TOTAL	UNIT	TOTAL	UNIT	TOTAL
Mx Hardwood Pulp & Bolts	360		\$43.50	\$15,660.00								
Basswood Pulp and Bolts	170		\$8.50	\$1,445.00								
Aspen Pulp and Bolts	35		\$40.50	\$1,417.50								
Sugar Maple Sawlogs	16.0		\$450.00	\$7,200.00								
Basswood Sawlogs	25.0		\$220.00	\$5,500.00								
TOTAL BID VALUE		\$27,179.00		\$31,222.50								
MINIMUM DEPOSIT (10%)				\$3,122.25								

FOREST COUNTY TIMBER SALE BID RECORD JOE'S HOLLAR TIMBER SALE TRACT 9-14 COUNTY BOARD ROOM, COURTHOUSE

December 15th, 2014 4:00 p.m.

			BIDD	ER # 1	BIDDI	ER # 2	BIDD	ER # 3	BIDD	ER # 4	BIDD	ER # 5
				Lumber pany	Brad Mihal	ko Trucking	Whitetail L	ogging, LLC		ks Logging, LC		ee Logging, _C
	TOTAL	MINIMUM	PER	SPECIES	PER	SPECIES	PER	SPECIES	PER	SPECIES	PER	SPECIES
SPECIES	VOLUME	BID	UNIT	TOTAL	UNIT	TOTAL	UNIT	TOTAL	UNIT	TOTAL	UNIT	TOTAL
Mx Hardwood Pulp & Bolts	560		\$62.00	\$34,720.00	\$45.50	\$25,480.00	\$55.05	\$30,828.00	\$48.00	\$26,880.00	\$40.50	\$22,680.00
Basswood Pulp and Bolts	208		\$10.00	\$2,080.00	\$10.50	\$2,184.00	\$15.05	\$3,130.40	\$12.00	\$2,496.00	\$7.00	\$1,456.00
Aspen Pulp & Bolts	857		\$62.00	\$53,134.00	\$42.50	\$36,422.50	\$55.05	\$47,177.85	\$45.00	\$38,565.00	\$46.50	\$39,850.50
Balsam Fir	8		\$15.00	\$120.00	\$25.50	\$204.00	\$25.00	\$200.00	\$30.00	\$240.00	\$30.00	\$240.00
Sugar Maple Sawlogs	36.0		\$550.00	\$19,800.00	\$485.00	\$17,460.00	\$555.00	\$19,980.00	\$505.00	\$18,180.00	\$500.00	\$18,000.00
Basswood Sawlogs	60.0		\$275.00	\$16,500.00	\$195.00	\$11,700.00	\$305.00	\$18,300.00	\$215.00	\$12,900.00	\$225.00	\$13,500.00
Mx Hardwood Sawlogs	28.0		\$300.00	\$8,400.00	\$195.00	\$5,460.00	\$305.00	\$8,540.00	\$220.00	\$6,160.00	\$250.00	\$7,000.00
TOTAL BID VALUE		\$84,381.00		\$134,754.00		\$98,910.50		\$128,156.25		\$105,421.00		\$102,726.50
MINIMUM DEPOSIT (10%)				\$13,475.40		\$9,891.05		\$12,815.63		\$10,542.10		\$10,272.65

			BIDD	ER # 6	BIDDI	ER # 7	BIDI	DER # 8	BIDE	DER # 9	BIDD	ER # 10
			Great Lakes	s Timber, Inc		ko & Sons ging						
	TOTAL	MINIMUM	PER	SPECIES	PER	SPECIES	PER	SPECIES	PER	SPECIES	PER	SPECIES
SPECIES	VOLUME	BID	UNIT	TOTAL	UNIT	TOTAL	UNIT	TOTAL	UNIT	TOTAL	UNIT	TOTAL
Mx Hardwood Pulp & Bolts	560		\$41.00	\$22,960.00	\$40.15	\$22,484.00						
Basswood Pulp and Bolts	208		\$8.00	\$1,664.00	\$9.45	\$1,965.60						
Aspen Pulp and Bolts	857		\$50.15	\$42,978.55	\$40.15	\$34,408.55						
Balsam Fir	8		\$15.00	\$120.00	\$20.84	\$166.72						
Sugar Maple Sawlogs	36.0		\$535.00	\$19,260.00	\$451.00	\$16,236.00						
Basswood Sawlogs	60.0		\$180.00	\$10,800.00	\$189.00	\$11,340.00						
Mx Hardwood Sawlogs	28.0		\$190.00	\$5,320.00	\$208.00	\$5,824.00						
TOTAL BID VALUE		\$84,381.00		\$103,102.55		\$92,424.87						
MINIMUM DEPOSIT (10%)				\$10,310.26		\$9,242.49						

FOREST COUNTY TIMBER SALE BID RECORD POACHER TIMBER SALE TRACT 10-14 COUNTY BOARD ROOM, COURTHOUSE

December 15th, 2014 4:00 p.m.

			BIDDI	ER # 1	BIDDI	ER # 2	BIDDI	ER # 3	BIDDE	ER # 4	BIDDI	ER # 5
			Tigerton	Lumber	Timbertick	s Logging,	Brad Mihalk	o Trucking,	Chad McKe	ee Logging,	Great Lake	es Timber,
			Com	pany	LL	_C	Ir	nc	LL	_C	Ir	nc
	TOTAL	MINIMUM	PER	SPECIES	PER	SPECIES	PER	SPECIES	PER	SPECIES	PER	SPECIES
SPECIES	VOLUME	BID	UNIT	TOTAL	UNIT	TOTAL	UNIT	TOTAL	UNIT	TOTAL	UNIT	TOTAL
Mx Hardwood Pulp & Bolts	500		\$62.00	\$31,000.00	\$48.00	\$24,000.00	\$45.50	\$22,750.00	\$42.50	\$21,250.00	\$48.05	\$24,025.00
Basswood Pulp & Bolts	215		\$10.00	\$2,150.00	\$12.00				\$7.00		\$8.00	
Aspen Pulp & Bolts	10		\$40.00	\$400.00	\$45.00	\$450.00	\$42.50	\$425.00	\$42.50	\$425.00	\$40.00	\$400.00
Sugar Maple Sawlogs	35.0		\$575.00	\$20,125.00	\$505.00	\$17,675.00	\$485.00	\$16,975.00	\$500.00	\$17,500.00	\$578.00	\$20,230.00
Basswood Sawlogs	25.0		\$275.00	\$6,875.00	\$215.00	\$5,375.00	\$195.00	\$4,875.00	\$225.00	\$5,625.00	\$195.00	\$4,875.00
Mixed Hardwood Sawlogs	5.0		\$275.00	\$1,375.00	\$220.00	\$1,100.00	\$195.00	\$975.00	\$225.00	\$1,125.00	\$200.00	\$1,000.00
TOTAL BID VALUE		\$47,043.00		\$61,925.00		\$51,180.00		\$48,257.50		\$47,430.00		\$52,250.00
MINIMUM DEPOSIT (10%)				\$6,192.50		\$5,118.00		\$4,825.75		\$4,743.00		\$5,225.00

			BIDDI	ER # 6	BIDD	ER # 7	BIDD	ER # 8	BIDD	ER # 9	BIDDE	R # 10
				ko & Sons ging								
	TOTAL	MINIMUM	PER	SPECIES	PER	SPECIES	PER	SPECIES	PER	SPECIES	PER	SPECIES
SPECIES	VOLUME	BID	UNIT	TOTAL	UNIT	TOTAL	UNIT	TOTAL	UNIT	TOTAL	UNIT	TOTAL
Mx Hardwood Pulp & Bolts	500		\$40.12	\$20,060.00								
Basswood Pulp & Bolts	215		\$9.38	\$2,016.70								
Aspen Pulp & Bolts	10		\$40.12									
Sugar Maple Sawlogs	35		\$452.00	\$15,820.00								
Basswood Sawlogs	25.0		\$190.00	\$4,750.00								
Mixed Hardwood Sawlogs	5.0		\$207.00	\$1,035.00								
TOTAL BID VALUE		\$47,043.00		\$44,082.90								
MINIMUM DEPOSIT (10%)				\$4,408.29								

FOREST COUNTY TIMBER SALE BID RECORD EAST HILL TIMBER SALE TRACT 11-14 COUNTY BOARD ROOM, COURTHOUSE December 15, 2014 4:00 p.m.

			BIDDI	ER # 1	BIDDI	ER # 2	BIDDI	ER # 3	BIDDI	ER # 4	BIDDI	ER # 5
			Whitetail Lo	ogging, LLC		s Logging, _C	•	Lumber pany		o Trucking,	Chad McKe	ee Logging, .C
	TOTAL	MINIMUM	PER	SPECIES	PER	SPECIES		SPECIES	PER	SPECIES	PER	SPECIES
SPECIES	VOLUME	BID	UNIT	TOTAL	UNIT	TOTAL	UNIT	TOTAL	UNIT	TOTAL	UNIT	TOTAL
Mx Hardwood Pulp & Bolts	220		\$43.00	\$9,460.00	\$48.00	\$10,560.00	\$52.00	\$11,440.00	\$40.00	\$8,800.00	\$45.00	\$9,900.00
Basswood Pulp & Bolts	30		\$13.00	\$390.00	\$12.00	\$360.00	\$10.00	\$300.00	\$10.50	\$315.00	\$9.00	\$270.00
Aspen Pulp & Bolts	235		\$43.00	\$10,105.00	\$45.00	\$10,575.00	\$60.00	\$14,100.00	\$40.00	\$9,400.00	\$45.00	\$10,575.00
Balsam Fir	10		\$25.00	\$250.00	\$30.00	\$300.00	\$15.00	\$150.00	\$25.00	\$250.00	\$35.00	\$350.00
Sugar Maple Sawlogs	2.0		\$550.00	\$1,100.00	\$505.00	\$1,010.00	\$475.00	\$950.00	\$485.00	\$970.00	\$500.00	\$1,000.00
Basswood Sawlogs	1.0		\$305.00	\$305.00	\$215.00	\$215.00	\$225.00	\$225.00	\$210.00	\$210.00	\$300.00	\$300.00
Mx Hardwood Sawlogs	2.0		\$305.00	\$610.00	\$220.00	\$440.00	\$225.00	\$450.00	\$210.00	\$420.00	\$300.00	\$600.00
TOTAL BID VALUE		\$19,415.00		\$22,220.00		\$23,460.00		\$27,615.00		\$20,365.00		\$22,995.00
MINIMUM DEPOSIT (10%)				\$2,222.00		\$2,346.00		\$2,761.50		\$2,036.50		\$2,299.50

			BIDDER # 6		BIDDER #7		BIDDER #8		BIDDER # 9		BIDDER # 10	
			Great Lakes Timber, Inc		Ken Mihalko & Sons Logging							
	TOTAL	MINIMUM	PER	SPECIES	PER	SPECIES	PER	SPECIES	PER	SPECIES	PER	SPECIES
SPECIES	VOLUME	BID	UNIT	TOTAL	UNIT	TOTAL	UNIT	TOTAL	UNIT	TOTAL	UNIT	TOTAL
Mx Hardwood Pulp & Bolts	220		\$42.60	\$9,372.00	\$40.14	\$8,830.80						
Basswood Pulp & Bolts	30		\$8.00	\$240.00	\$9.48	\$284.40						
Aspen Pulp & Bolts	235		\$48.65									
Balsam Fir	10		\$8.00	\$80.00	\$20.78	\$207.80						
Sugar Maple Sawlogs	2.0		\$400.00	\$800.00	\$451.00	\$902.00						
Basswood Sawlogs	1.0		\$100.00	\$100.00	\$188.00	\$188.00						
Mx Hardwood Sawlogs	2.0		\$200.00	\$400.00	\$208.00	\$416.00						
TOTAL BID VALUE		\$19,415.00		\$22,424.75		\$20,261.90						
MINIMUM DEPOSIT (10%)				\$2,242.48		\$2,026.19						